Linde Hydraulics LINDOS HYdrau:I.ik

Seite 2
:’::.—/’/' 2638049020_5842704_30
;_7’/0@’8 Verstellung E1 (2-8 bar)

Datum 07.01.2022 9:30

1"

Pos.| Teilenummer I Benennung Menge Ersetzung
28 0009736183 Magnet (Regel) 24V DIN M16 2
29 - 4 |Dichtung GDM3-16 2
30 - 4 |Leitungsdose AF2-PG9 EN 175301 2
31 - 4|Zylinderschraube M4x50-8.8 ISO 4762 8
33 -——= 4| Stopfen HK5x6x73AK 2
34 - 4|Stopfen HKS5x6x43AK 1
37 - 4 |Verschlussschraube M14x1,5 2
39 0009033195 Verschlussschraube M8x1-5.8 2
40 0009037050 Dise D1,2-M6-St WN 42775 2
40 0009037045 Dise D1,0-M6-St WN 42775 2
41 0009630805 O-Ring 80x2-FKM80 1
42 0009630112 O-Ring 10x1, 5-FKM80 4 0009632114
42 0009632114 O-Ring 10, 5x1, 5-FKM80 4
43 9384620450 1|Spannstift 11x10 ISO 13337 4
44 5063231902 Distanzstilick 1
45 9048348183 1|Zylinderschraube M8x25-10.9-PHR 2
46 9289003110 1|Passscheibe 12x18x0,1 DIN 988 n.

Bed
46 9289003109 1|Passscheibe 12x18x0,5 DIN 988 n.

Bed.
47 9455622113 1|Sicherungsring 12x1 DIN 471 1
48 9045348186 1|Zylinderschraube M8x30-10.9-PHR ISO 4762 |4



admin
Hervorheben

admin
Hervorheben




